Corner Mount Adaptor
Pole Mount Adaptor

SBP-300KMS
SBP-300PMS

@ Hanwha Vision
Package
SBP-300KMS
STAINLESS BOLT
(M10XL30) 4EA
0060
SPRING WASHER 4EA
PLAIN WASHER 4EA
SBP-300PMS
STAINLESS BOLT
(M10XL30) 4EA
00060
SPRING WASHER 4EA
STAINLESS STEEL
MOUNT STRAP PLAIN WASHER 4EA POLE MOUNT ADAPTOR

Product Overview

SBP-300KMS : This is an adaptor that is used to install the Wall Mount Adaptor(SBP-300WM/
WM1) in a corner of the wall.
SBP-300PMS : This product is used to install the Wall Mount Adaptor (SBP-300WM/WMT)
onto a pole of at least 80 mm in diameter.

SSYNl) SBP-300KMS : Adaptateur permettant d'installer I'adaptateur de fixation murale
(SBP-300WM/WM1) dans I'angle du mur.

SBP-300PMS : Ce produit permet de monter I'adaptateur de fixation murale (SBP-300WM/
WM1) sur un pyléne d’au moins 80 mm de diametre.

SBP-300KMS : Das ist ein Adapter, der zur Montage des Wandadapters (SBP-300WM/WM1)
in einer Wandecke verwendet wird.

SBP-300PMS : Dieses Produkt dient zum Montieren des Wandadapters (SBP-300WM/WM1)
an einem Mast mit einem Durchmesser von mind. 80 mm.

(@]
m
By

SBP-300KMS : Este es un adaptador que se utiliza para instalar el adaptador de montaje en
pared (SBP-300WM/WM1) en una esquina de un muro.

SBP-300PMS : Este producto se utiliza para instalar el Adaptador de montaje en pared
(SBP-300WM/WM1) en un poste de al menos 80 mm de didmetro.

SBP-300KMS : Questo e un adattatore utilizzato per installare I'adattatore per montaggio a
parete (SBP-300WM/WM1) in un angolo della parete.

SBP-300PMS : Questo prodotto € utilizzato per installare I'adattatore per montaggio a parete |
(SBP-300WM/WM1) su un palo di almeno 80 mm di diametro.

U SBP-300KMS : 3TOT nepexofHvK NCNonb3yeTca AnA YCTaHOBKW HACTEHHOrO afantepa
(SBP-300WM/WMH) B yrny.

SBP-300PMS : 3TOT MpoAyKT 1CMONb3yeTca 1A YCTaHOBKW HaCTEHHOTO KPOHLUTeHa
(SBP-300WM/WM) Ha CTon6, MUHUMAnbHBIM AYaMeTp KOTOPOro CoCTaenseT 80 MM.

)
3
> )

(@] o = o = (7))

SBP-300KMS : Ta przystawka uzywana jest do montowania Przystawki $ciennej
(SBP-300WM/WM1) w kacie pomiedzy $cianami.

SBP-300PMS : Ten produkt jest uzywany do montazu przystawek $ciennych (SBP-300WM/
WM1) na sfupie o $rednicy co najmniej 80 mm.

SBP-300KMS : Bu, Duvar Montaj Adaptorinti (SBP-300WM/WM1) duvar késelerine monte
etmek icin kullanilan bir adaptérddr.

SBP-300PMS : Bu Urlin, Duvara Montaj Adaptorini (SBP-300WM/WM1) en az 80 mm gapa
sahip bir direge monte etmek igin kullanilir.

U

o)

SBP-300KMS : Adaptér urceny k instalaci adaptéru pro upevnéni na sténu (SBP-300WM/
WM1) do rohu na sténé.

SBP-300PMS : Tento produkt je uréen k instalaci adaptéru pro upevnéni na sténu
(SBP-300WM/WMH) na stozér o prdméru alespon 80 mm.

SBP-300KMS : =)L+ >/ b+ 774 7% (SBP-300WM/WM1) ZEDIBICRE S Bl
FRIBTETETY,

SBP-300PMS : ZDRBEEBL T A — )L+ T> k77474 (SBP-300WM/WM1) ZE#E
HBOMMEBR BIHHREL T,

SBP-300KMS : X2 F FAEIS fa e 1 E R Y5IERR RS (SBP-300WM/WMT) HIiERD 8
SBP-300PMS : 7= 3 F I3 L R4EIBA 25 (SBP-300WM/WMT) REEBIEZZE D2 80
EXRAHEF L.

PG SBP-300KMS: 2 HME2 #Hol 2A2Z|£0f Wall Mount Adaptor(SBP-300WM/WM1)E AX| Al
At8dH= Adaptor LI|CH
SBP-300PMS : & M|E2 80mmO| 42| 7| S0 Wall Mount Adaptor (SBP-300WM/WM1)E
AX| Al A}Eo}'— Adaptor ¢lL|Ct.

N

JA

o

I

Installation Precautions

Make sure that the installation place can endure at least 4 times of the total weight of the
Corner/Pole Mount Adaptor, Wall Mount Adaptor, Hanging Mount Adaptor, and Camera.
Each anchor bolt to use must be capable of withstanding an extraction force of 700 kg.
When installing the product outdoors, use interlocking devices made of stainless steel.
This product is designed to use M10 Anchor Bolts (Nuts) for the installation.

If you install the Corner Mount Adaptor on a concrete wall, it is recommended to use M10
Anchor Bolts (Nuts) along with plain and spring washers.

Assurez-vous que |'emplacement de I'installation peut supporter au moins 4 fois le poids total de
I'adaptateur de fixation sur pylone/d‘angle, de I'adaptateur de fixation murale, de |'adaptateur
pour fixation suspendue et de la caméra.

Chaque boulon utilisé doit pouvoir résister a une force d'extraction de 700 kg.

Si vous installez le produit & I'extérieur, utilisez des dispositifs de verrouillage en acier
inoxydable.

Pour installer ce produit, vous avez besoin de boulons d'ancrage M10 (écrous a river).

Sivous fixez I'adaptateur de fixation murale sur un mur en béton, nous vous conseillons
d'utiliser des boulons d'ancrage M10 (écrous a river) avec rondelles de ressort et plates.

HUTHRAE: Q/12JD5708
SBP-300KMS/PMS PT01-004796A

Stellen Sie sicher, dass der Montageort das 4-fache Gesamtgewicht der Eck-/Masthalterung,
des Wand- bzw. Hangeadapters und der Kamera tragen kann.

Jeder Ankerbolzen muss einer Ausziehkraft von 700 kg standhalten kénnen.

Wenn das Produkt im Freien montiert wird, missen Verriegelungseinrichtungen aus Edelstahl
verwendet werden.

Bei der Montage dieses Produkts bendtigt man Ankerbolzen und Muttern (M10).

Wenn Sie die Eckhalterung an einer Betonwand befestigen, wird die Verwendung von M10
Ankerbolzen (Muttern) und von Unterleg- bzw. Spannscheiben empfohlen.

Asegurese de que el lugar de instalacion puede soportar al menos 4 veces el peso total del
adaptador de montaje en esquina/poste, el adaptador de montaje en pared, el adaptador de
montaje en suspension y la camara.

Cada perno de anclaje debe tener la capacidad de soportar una fuerza de extraccion de 700 kg.
Alinstalar el producto en exteriores, utilice dispositivos de interbloqueo de acero inoxidable.

Este producto se ha disefiado para utilizar tornillos de anclaje M10 (tuercas) para la instalacion.

Siinstala el adaptador de montaje en esquina en un muro de hormigén, se recomienda utilizar
pernos de anclaje M10 (tuercas) junto con arandelas planas y de muelle.

Assicurarsi che il punto prescelto per l'installazione possa sopportare un peso 4 volte
superiore a quello totale di adattatore per montaggio ad angolo/su palo, adattatore per
montaggio a parete, adattatore per montaggio sospeso e videocamera.

Ogni bullone di ancoraggio da utilizzare deve poter resistere ad una forza di estrazione di 700 kg.
Per installare il prodotto all'aperto, utilizzare dispositivi di ancoraggio in acciaio inossidabile.
Questo prodotto & progettato per utilizzare bulloni (dadi) di ancoraggio M10 per I'installazione.
Se si installa 'adattatore per montaggio ad angolo su un muro di cemento, si raccomanda di
utilizzare bulloni (dadi) di ancoraggio M10 con rondelle piane ed elastiche.

YbenuTech, YTO MECTO YCTaHOBKM BbiAePXVBAET BEC MPUMEPHO B 4 pa3a 6onblunit obliero
Beca YrfioBOro afiantepa/ans KpenneHus K KONOHHE, a TakKe HaBeCHOrO afanTepa 1 Kamepsl.
Kaxabiit ncronb3yemblit KpenexHblii 60NT JOMKeH BbiAepVBaTb CUNY U3BNEYEHUA, PABHYIO
700 «r.

Ecnv npoayKT yCTaHaBNMBaeTCA BHe MOMELLEHNs, HEOBXOAMMO UCMIONb30BaTb YCTPOMCTBO
6710KMPOBKM 13 HepXxaBeloLLei CTanu.

[InA yCTaHOBKM 3TOrO NPOAYKTa UCMONb3yioTCA KpenexHble bonTsl (raiku) M10.

Mpw ycTaHOBKe YrnoBoro afantepa Ha G6ETOHHOM CTeHe PEKOMEHAYETCA UCMOoNb30BaTh
KpenexHble 6onThl (raiku) M10, a Takke Naockue 1 NPyXVHHbIE Waibbl.

Upewnij sie, ze miejsce instalacji moze utrzymac ciezar czterokrotnie wigkszy od tacznej wagi
Przystawki do montazu na stupie/przystawki katowej, Przystawki Sciennej, Przystawki wiszacej
i Kamery.

Kazda kotwa musi mie¢ zdolno$¢ wytrzymania sity wyciagania 700 kg.

W przypadku montazu produktu na zewnatrz nalezy uzywaé blokad ze stali nierdzewnej.
Produkt ten nalezy montowac¢ za pomoca kotew (nakretek) M10.

W przypadku montazu Przystawki katowej na $cianie betonowej zalecane sa kotwy (nakretki)
M10 oraz podktadki zwykte i sprezyste.

Montaj yerinin Kose/Direk Montaj Adaptorintin, Duvar Montaj Adaptorinin, Askill Montaj
Adaptoriiniin ve Kamera'nin toplam agirliginin en az 4 katina dayanikii oldugundan emin olun.
Kullanilacak her ankraj civatasl, 700 kg'lik bir gekme kuvvetine dayanikli olmalidir.

Urlinu dig mekana kurarken, paslanmaz celikten yapiimis i¢ kilit mekanizmalari kullanin.

Bu Uirin, M10 ankraj civatalanyla (somunlar) birlikte kullanimak icin tasarlanmistir.

Kbseye Montaj Adaptorini beton bir duvarda kullanacaksaniz, diiz ve yayli rondelalara sahip
M10 ankraj civatalarinin (somunlarin) kullanimasi énerilir.

Ujistéte se, Ze misto, kam chcete zafizeni instalovat, unese nejméné ¢tyindsobek souctu
hmotnosti rohového adaptéru nebo montazniho adaptéru pro stozary, adaptéru pro upevnéni
na sténu, zavésného montézniho adaptéru a kamery.

Kazdy kotevni Sroub musi byt schopen odolat tahu 700 kg.

P instalaci produktu ve venkovnich prostorach pouZifte zajiStovaci prvky z nerezové oceli.
Tento produkt je navrzen pro pouziti kotevnich Sroubt a matic M10 pri instalaci.

Pri instalaci rohového adaptéru na betonové stény se doporuduje pouzit kotevni Srouby a
matice M10 spolu s plochymi a pérovymi podiozkami.

BEFFAON S — /RO b TETE A )T bTETI NS F
ROV TETEBELVAASDE ﬁis@ﬁﬂﬁi’(ﬂiﬁ%héZt%ﬁﬁa’&b’((fiéb\o

RTHET7H—RIVME, 700kg®17i£73kmi‘ EXP )
CORGEBNCRET 2551E ATV L ARDESEBEAFERLTIEEL,
CORGRIF M0V A—RIVS (Fy ) ZFERLGRELE Y, .
OV —=hBDBHCO—F— IOV TR TR ERETBHEIEMI0T7H— RVt
(FyR) EETY I —BLURT ISy v—%ERTEHTEEHEIDL ‘9*

&R A

1ﬁﬁ1%"“**1.1.§§"‘7b(7?<1ﬁ&/E‘V‘“"*JEEE%% mEREERRE. BER

BRILDERN 4 ENNE.

ZEANES MY RIZL R RER RS 700 "HE’J?&‘H:}?JE

AR RETRE, FERRENHER L

AR AR M10 B2 (28) 1&1"

Eéﬁﬁé&z— BERFREERRLEL, Ll)(ﬁ M10 EEige (B8 5RTEMRMEN
-I:l [=]

AX|E A7t Corner/Pole Mount Adaptor, Wall Mount Adaptor, Hanging Mount Adaptor,

Camera o £ 29| 4t} 0|42 Z25| AL £ QU= ol HXSHHIR.

AX|El 22| 27t EE = T00kge| Y7ol AC|ofof BHL|Ct

S2|0f dX|A| HIZF= AHQIA THES ALESIM Q.

Ol HIZ2 M102| Y7t 2EE(HE)E Aot S M=o AFLICE

Corner Mount Adaptors Z32|EH0f| X|g 22 M102| Y7t 2EE(HE)E

ATt Bl AFESEAIR.

HotM 8

Attention

= ERER. Y

The product quality is not guaranteed when additional perforation is performed to make the
installation easier.

After installation, please perform anti-corrosion treatment on the fastened area.

Please use stainless steel brackets for installations in sites where corrosion may occur.

La qualité du produit n’est pas garantie lorsqu’une perforation supplémentaire est effectuée
pour faciliter I'installation.

Apres linstallation, veuillez effectuer un traitement anti-corrosion sur la zone fixée.

Veuillez utiliser des supports en acier inoxydable pour les installations dans les sites ou la
corrosion peut se produire.

Die Produktqualitat ist nicht garantiert, sollten zusétzliche Perforationen vorgenommen werden,
um die Installation zu vereinfachen.

Nach der Installation, bitte am befestigten Bereich eine Korrosionsschutzbehandlung
vornehmen.

Bitte Edelstahlklammern zur Installation an den Stellen verwenden, an denen es zu Korrosionen
kommen kénnte.

Die Produktqualitét ist nicht garantiert, sollten zusétzliche Perforationen vorgenommen werden,
um die Installation zu vereinfachen.

Nach der Installation, bitte am befestigten Bereich eine Korrosionsschutzbehandlung vornehmen.
Bitte Edelstahlklammern zur Installation an den Stellen verwenden, an denen es zu Korrosionen
kommen kénnte.

La qualita non viene garantita quando vengono eseguite ulteriori perforazioni per rendere
I'installazione piu facile

Usare staffe in acciaio per installazioni in luoghi dove potrebbe verificarsi la corrosione.
Dopo l'installazione, eseguire un trattamento anti corrosivo nell’area di fissaggio.

ECnu BbINOMHEHBI AOMONHUTENbHbIE OTBEPCTIA, KaYeCTBO paboThl annapata He rapaHTMpyeTca.
[Nocne ycTaHOBKM NPOBEAUTE aHTUKOPPO3UIHYIO 0BPaboTKy B 30HE KperneHus.

Ecnu ycTaHoBKa NpOK3BOANTCA B MECTaX, A€ MOXKET MPOM30MTI KOPPO3USA, NCMOMb3yiTe
KPOHLUTEMHbI 13 HepXaBeloLLeit CTanu.

W przypadku nawiercenia dodatkowych otworéw w celu tatwiejszego montazu nie mozna
zagwarantowaé wysokiej jakoéci produktu.

Po zakonczeniu montazu zabezpiecz obszar mocowania preparatem antykorozyjnym.

W lokalizacjach, w ktérych wystepuje ryzyko powstawania korozji, produkt nalezy montowac¢
przy uzyciu uchwytéw ze stali nierdzewnej.

Kurulumu daha kolay yapmak icin ilave delme islemi yapildiginda Griin kalitesi garanti ediimez.
Kurulumdan sonra, Ittfen baglama noktasina anti-pas islemi uygulayin.
Paslanma olusabilecek yerlere kurulum yaparken litfen paslanmaz gelik braketler kullanin.

Pokud byla z diivodu snadnéjsi instalace provedena dalsi perforace, nelze zarudit kvalitu
produktu.

Po instalaci provedte antikorozni povrchovou Upravu mista montaze.

V mistech, kde mdze dochazet ke korozi, pouzivejte brzaky z nerezové oceli.

RBEZLPI T BIDICERTESITNEZRIT 256 DR BRIV LHMRETS,
BlcH ELESINT Z{ToTLIEE W
BROBZNDHEHICRET BIHEIE ATV LARDT Sy MEEISIFTIZEWN

AHERE, FENTEITITILRLR, §TERER R,
RER, BIERALETHEEL
BEMBRAIGET, BRETERITRMILR.

X Ho|E I8l USZ FILEIS Al HE SHE EBSHR| eAELICE
A = HZRL(0 SHELS HAISHY| HiRfLich
FA0] 22E|= HA| Haol= AHQA RO BapS HAISH| HRELIC




Installation

SBP-300KMS

1 Mark and drill 8 holes into the Corner Mount Adaptor where you will insert
the Anchor Bolts or Nuts (M10), and fasten the Corner Mount Adaptor with
the Bolts, plain and spring washers.

2 Insert the cables through the Corner Mount Adaptor.

3 Use the provided Bolts, Spring Washers and Plain Washers to mount the
Wall Mount Adaptor onto the product.
= For more information, refer to the installation guide of the Wall Mount Adaptor.

™ Anchor Bolt

Plain Washer Corner Mount Adaptor
Spring Washer
Anchor Bolt

Wall Mount Adaptor
(SBP-300WM)

Product Outline

SBP-300PMS
1 Select a pole to install and confirm the installation height.

2 Use the Stainless Steel Mounting Strap to secure the Pole Mount Adaptor
to the pole.

3 Insert the cables through the Pole Mount Adaptor.

4 Use the provided Bolts, Spring Washers and Plain Washers to mount the
Wall Mount Adaptor onto the product.
= For more information, refer to the installation guide of the Wall Mount Adaptor.

Stainless Steel Mounting Strap

Plain Washer Pole Mount Adaptor

Spring Washer
Anchor Bolt

Wall Mount Adaptor
(SBP-300WM)

Product Outline

Product Specifications

SBP-300KMS

SBP-300PMS

* Weight : 2.1 kg

e Material : Stainless steel

e Operation temp. : -50°C~60°C
e Operation hum. : 0~100%

e Weight: 1.3 kg

e Material : Stainless steel

e Operation temp. : -50°C~60°C
® Operation hum. : 0~100%

® Poids : 2,1kg

* Matériau : Acier inoxidable

* Température de fonctionnement :
-50°C~60°C

* Humidité de fonctionnement :
0~100%

e Poids : 1,3kg

* Matériau : Acier inoxidable

* Température de fonctionnement :
-50°C~60°C

¢ Humidité de fonctionnement :
0~100%

® Gewicht: 2,1 kg

* Material : Edelstahl

¢ Betriebstemperatur : -560°C~60°C
 Betriebsluftfeuchte : 0~100%

* Gewicht: 1,3 kg

* Material : Edelstahl

¢ Betriebstemperatur : -50°C~60°C
 Betriebsluftfeuchte : 0~100%

® Peso: 2,1 kg

* Material : Acero inoxidable

® Temp. funcionamiento : -50°C~60°C
® Hum. funcionamiento. : 0~100%

® Peso: 1,3kg

* Material : Acero inoxidable

® Temp. funcionamiento : -50°C~60°C
® Hum. funcionamiento. : 0~100%

® Peso: 2,1kg

* Materiale : Acciaio inossidabile

o Temperatura di esercizio : -50°C~60°C
¢ Umidita di esercizio : 0~100%

® Peso: 1,3kg

* Materiale : Acciaio inossidabile

e Temperatura di esercizio : -50°C~60°C
¢ Umidita di esercizio : 0~100%

® Bec: 2,1 «r

* MaTtepwan : Hepxaseiowas cTarnb

e Temnepatypa npw pabore :
-50°C~60°C

 BnaxHocTb npw pabote : 0~100%

® Bec: 1,3«r

* MaTtepwan : Hepxasetolan ctanb

e Temnepatypa npw pabore :
-50°C~60°C

 BnaxHocTb npw pabote : 0~100%

e Ciezar: 2,1 kg

* Materiat : Stal nierdzewna

e Temperatura robocza : -50°C~60°C
* Wilgotno$¢ robocza : 0~100%

e Ciezar: 1,3kg

* Materiat : Stal nierdzewna

® Temperatura robocza : -50°C~60°C
* Wilgotno$¢ robocza : 0~100%

<SBP-300KMS> Unit : mm(inch)

100.0 (@.94%)

£0.0 (2 36" 20.0 c0.79m

8.0 0.31°

91.5 (3.60")

150.0 (5.917)
183.0 (7.2
150.0 (5.91)

57.5 (5.26"

0 0 |< &

80.0 (315"

1150 Ca.53%)

<SBP-300PMS> ) Unit : mm(inch)

150 0597 100 (039

0.0 (500"

® Ak : 2.1 kg

* Malzeme : Paslanmaz gelik

® Calisma sicakligr : -50°C~60°C
¢ Calisma nem degeri : 0~100%

* Ak : 1.3 kg

* Malzeme : Paslanmaz celik

® Calisma sicakligr : -50°C~60°C
¢ Calisma nem degeri : 0~100%

® Hmotnost : 2,1 kg

* Material : Nerezova ocel

* Provozni teplota : -50°C~60°C
® Provozni vihkost : 0~100%

® Hmotnost : 1,3 kg

* Material : Nerezova ocel

* Provozni teplota : -50°C~60°C
® Provozni vihkost : 0~100%

e EE: 21kg

e ME: 27V LARF—IU
o BERE : -50°C~60°C
* BIEEE : 0~100%

e TE: 13kg

e ME: 27V LARF—Ib
* BIYERE : -50°C~60°C
* BIEEE : 0~100%

cEE: 2INR

o B R

o T/ERE : -50°C~60°C
o T{EIRE : 0~100%

e EE: 134K

o ML G

o T/ERE : -50°C~60°C
o T{ERE : 0~100%

e 2A:2.1kg

o T E : Stainless steel
® A8 2 :-50°C~60°C
* ALg & :0~100%

® 2H:13kg

o T{Z : Stainless steel
® A8 2% :-50°C~60°C
* Al &5 :0~100%

MEMO




